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Daily Word Problems 

  

1.  Gina bought 2.5 pounds of peaches that cost $1.38 per pound at the grocery store.  Amy 
went to the local farmer’s market and purchased 3.5 pounds of peaches at $0.98 per pound. 
Who spent more money, and how much more? 
  
A.  Amy, $0.02 B.  Gina, $0.02 C.  Amy, $0.12  D.  Gina, $0.12 
  
 
  
 
  
  
2. At a football game, Jasmine bought a soft pretzel for $2.25 and a bottle of water for $1.50. 
She paid with a $5 bill.  How much change should Jasmine get back? 
  
a. $0.25   b. $0.65   c. $1.25    d. $1.65 
  
  
  
  
 
  
3. Kelly buys a sweater for $16.79 and a pair of pants for $28.49.  She pays with a $50 bill. 
How much change should Kelly get back? 
  
a. $2.72   b. $3.72  c. $4.72   d. $5.72 
  
  
  
  
  
  
4.   ​The cost of renting a surfboard at the beach is a $12.00 fixed fee, plus $4.25 per hour.  How 
much would it cost to rent the surfboard for 5 hours? 
A.  $21.25  B.  $33.25  C.  $22.25  D.  $32.25 
  
  
  



5.     ​Jeffrey’s recipe for oatmeal muffins calls for 2 ​¼​ cups of oatmeal and makes one dozen 
muffins. If he makes 1 ​½​ dozen muffins for a club meeting and 2 dozen muffins for a family 
reunion, how much oatmeal will he use? 
  
A.  6 7/8 cups B.  7 7/8 cups C.  5 1/8 cups D. 6 1/12 cups 
  
  
  
  
 
  
  
6. Evan and Macie are going to make fruit bars for their family reunion.  They want to make 5 
times the amount the recipe makes.  If the recipe calls for 3/4 cup of oil, which is the closet to 
the total amount of how much will they need?  
  
a. About 2 cups  b. About 3 cups  c. About 4 cups     d. About 5 cups 
  
  
  
  
  
7. Kara has a report due on Tuesday.  She wrote 1/8 of the report on Saturday, and ​½​ of the 
report on Sunday.  What part of the report does Kara still have to write? 
  
a. 2/8  b. 3/8  c. 4/8   d. 5/8 
  
  
  
  
  
 
  
8. Mohini has 60 ounces of milk.  She wants to give 8 friends the same amount of milk.  How 
many ounces of milk should each friend get? 
  
a. 6 3/8 ounces  b. 6 ​½​ ounces c.  7 3/8 ounces  d.  7 ​½​ ounces 

 

 

 



Name ___________________________ Date ____________________ 

Daily Word Problems (2) 

 

1.   Mrs. Jones made popcorn for 9 people. Each scoop of popcorn kernels made 2 cups of 
popcorn. She made 6 scoops. How much popcorn did each person have if it was divided 
equally?  
 
A.  3 / 8  of a cup B.  3 / 4 of a cup  C.  1 ⅓ cups         D.  1  ⅔ cups 
 
 
 
 
 
 
2.  James needs to mow 4 lawns on Saturday. He mowed 2 lawns on Saturday morning. How 
many more lawns does he have to mow on Saturday afternoon? 
 
 A. 1  ¾ more lawns B.  2  1/4 more lawns C. 2  ¾ more lawns   D. 3 ½ more lawns 
 
 
 
 
 
 
3. Lynn is knitting a blanket for her cousin. She uses of a roll of yarn each day. How much yarn 
will she use in four days?  
 
A. 1  1/7 of a roll B.  6/7 of a roll C.  2/6  of a roll D. 3/7 of a roll 
 
 
 
 
 
 
 
4. 21. A groundskeeper mows a field that is 198.5 meters by 47.8 meters. Which is closest to 
the area, in square meters, of the field?  
 
A. 250  B. 500 C. 1000 D. 10,000 
 



 
5. 15. Miss McCoy filled up her car with 15.5 gallons of gas. She drove a total of 375 miles 
before needing more gas. About how many miles per gallon did Miss McCoy get? 
 
 A. 39 B. 25 C. 24  D. 56 
 
 
 
 
 
 
 
6. David ran  12  1/3 miles and Tony ran  14  1/8 miles in a charity race. How much farther did 
Tony run than David?  
 

A. 1  19/24  miles  B.  2 1/5 miles C.  2  5/24 miles D.  2  19/24 miles 
 
 
 
 
 
 
 
7. Two-thirds of the students in a class are wearing blue jeans. Two-sixths of the students who 
are wearing blue jeans are also wearing gray shirts. What fraction of the students in the class 
are wearing blue jeans and gray shirts? 
 

A. 2 / 18 B. 2 / 9 C. 6 / 18 D. 4 / 9 
 
 
 
 
 
 
8. Larry  will build a garden  with an area of 25 square feet.  What set of measurements can 
Larry use? 
 

A. Length = 5 ½ feet, width = 5 feet B. length= 5 ¾ feet, width = 4 ¾ feet 
 
     C.   length = 12 ½ feet, width= 2 feet D. length= 12 ½ feet, width 12 ½ feet 
 
 
 



 
Answer Key Problems Day 2 
 

1. C 1 ⅓ 
2. A 1 ¾ 
3. A 1 1/7 
4. D 10,000 
5. C 24 
6. A 1 19/24 
7. B 2/9 
8. C length: 12 ½  ft. Width: 2 ft 

 
 
 
 
 
 


